Math 165 Test 3
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A Pizza shop owner determines the number of pizzas that are delivered each day. Find the mean, variance and
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2. Alottery offers one $1000 prize, two $500 prizes, three $250 prizes, four $125 prizes, and five $100 prizes. One
thousand tickets are sold at $3 each. Find the expectation if a person buys one ticket.
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3. Approximately 10.3% of American high school students drop out of school before graduation. Choose 10 students
entering high school at random. Find the probability that
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4. Thirty-two percent of adult Internet users have purchased products or services online. For a random sample of 200
adult Internet users, find the mean, variance, and standard deviation for the number who have purchased goods or

services online.
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5. The average commute to work (one way) is 25 minutes according to the 2005 American Community Survey. If we
assume that commuting times are normally distributed and the standard deviation is 6.1 minutes, what is the

probability that a randomly selected commuter spends more than 30 minutes commuting one way?
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6. The average retail price of gasoline (all types) for the first half of 2009 was 236.5 cents. What would the standard
deviation have to be in order for a 15% probability that a gallon of gas costs less than 52.007
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If the average price of a new one-family home is $246,300 with a standard deviation of $15,000, find the minimum

and maximum prices of the houses that a contractor will build to sat

the variable is normally distributed.
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Americans drank an average of 23.3 gallons of bottled water per capita in 2008. If the standard deviation is 2.7

gallons and the variable is normally distributive, find the probability that a randomly selected American drank more
than 25 gallons of bottled water.
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9. Arecent study of a life times of cell phones found the average is 24.3 months. The standard deviation is 2.6 months
If a company provides its 33 employees with a cell phone, find the probability that the mean lifetime of these
phones will be less than 23.8 months. Assume cell phone life is a normally distributed variable.
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10. Assume that the m|ean systolic blood pressure of normal adults is 120 millimeters of mercury and the standard
deviation is 5.6. Assume the variable is s normally distributed.
a. If anindividualfis selected, find the probability that the individual’s pressure will be between 120 and 121.8.
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b. If a sample of 30 adults is randomly selected, find the probability that the sample mean will be between 120 and
121.8.
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11. According to recent surveys, 60% of households have personal computers. If a random sample of 180 households is
selected, what is the probability that more than 60 have a personal computer?
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12. Seventy-eight percent of U.S. homes have a telephone answering device. In a random sample of 250 homes, what is

the probability that at most 40 have a telephone answering device?
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